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void inserisci(elem*& |, int x)
{ if (I==NULL)

{ I=newelem;
I->info = x;
I->pun = NULL;
return;

}

inserisci(l->pun, x);

}

elem™* unisci(elem* 11, elem™ 12)
{
elem* p1=I1,"p2=12,*13=0;
elem* p,*q=0;
while(p1!=NULL && p2!=NULL)
{ p=new elem;
p->pun=0;
if (p1->info<=p2->info)
{ p->info=p1->info;
p1=p1->pun;
if (p->info==p2->info)
p2=p2->pun;

else
{ p->info=p2->info;
p2=p2->pun;

}

if (113) 13=p;
else g->pun=p;
a=p;

}
while (p1 || p2)
{ p=new elem;
p->pun=0;
if (p1)
{ p->info=p1->info;
p1=p1->pun;

else
{ p->info=p2->info;
p2=p2->pun;

1

if (1q) 13=p;
else g->pun=p;
g=p;

return 13;

}



3) int somma(int* vett, int N, int M){
int somma=0;
for(int i=0; i<N; i++)
for (int j=0; j<M; j++)
if ((i&&!(i%2))||(j&&!(j%2)))
somma+=vett[i*M+j];
return somma;

}
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